Spring 2014, Chem 3A Dr. Pete Marsden

Chemistry 3A — Exam #1

Student Name: [/
Student ID Number: V\ ( /{

r \,/\, \/\
TA or Section:

\
Point Breakdown

Problem 1 148 2|
Problem 2 /16
Problem3 _ /29
Problem 4 115
/ 24
181G
Problem 5 /13
/17
Total /150 |

Check that you have 9 pages.
You will have 120 minutes for this exam.

REMEMBER: Opposites attract,
formal charges are required, and
the octet rule is super important
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Dr. Pete Marsden

1. A. Provide systematic names for the following molecules. Use common
names where appropriate. Continue numbering the carbons based on

the first 2 carbons. (4 pts)

. -Ai -
oo} 5,6'&\0\1(40\0(1&\1\'(”4(" d‘ﬁ"":ﬁ’ \‘:m)t’
N2 A 4% - clolouhyl AT
Gl- {Ovdmo - %, b- dicyaro
Br Br s

|-metyl-3- sopropy! - b, b-di+luoce Pt ot

cu‘c.\o\dcp'Hl.V\e gt S uks

F
AN

1. B. The following names are incorrect.
the name written. Write the correct

Draw the molecule according to
name in the provided box. (8 pts)

Incorrect name:

secButylethane

Molecule drawing:

Correct name:

2. m&-\-\Aql PGV\'*'“VU'-

e e X

2,2- dimetyl procaws

1. C. Match the names with the structures by placing the letter for the
structure next to the name based on the functional group. There are

more structures than names. (6-pts) ]

a methyl ester | A A Q
e
a dimethyl amide PD
acetonitrile E \N
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Incorrect name: tetraMethylmethane dva “"”“3
Molecule drawing: Correct name:

S
R
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2. Construct the molecular orbital diagram for the molecule H3;NO, using
the following guidelines and labeling schemes. The nitrogen is the
central atom. Please be sure to include everything asked for below.
(16 pts)

a. Assume the nitrogen and oxygen atoms are both sp® hybrized

b. Indicate the relative energy levels of any atomic and hybrid orbitals
on both the left and right of the diagram

c. Clearly indicate which orbitals are being combined to make MOs

d. Fill in all of the electrons

e. Label all of the levels (o, =, n*, non-bonding, etc.) N=5 ; U e

f. Label the HOMO and LUMO By :"3
T o NH
/ ,—, 0-* { No
“ . LuMe
¢ 4 ‘ l
¢ ¢ \ 1
Nitrogen _ ’ i
Sp T womo

v (]| Jﬁ@o;(ygen
\ \ nb O(SPZ)' ’ =P

\ ’ — lsHydrogen
\ \ , ,[\_\., ydrog
\ ! A’NOI
\1L AL, & NH
Molecular Orbital Diagram for H3NO

g. Draw the 3D representation of H3NO below. You do not need to
show the location of lone pairs on oxygen. Feel free to use our
template from class. You must clearly show all formal charges.

:(‘j,@
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He"/ >~
H
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3. A. Provide the products following the electron-pushing arrows shown.
Remember to pay attention to formal charges. (15 points)

“56 C.“‘;
Yo @ 2 pts

< 7 each
*O
2 new products

2 new products

3. B. Add appropriate electron-pushing arrows for the following reactions.

(14 points)
Z ¢
"O'/\LH@ .’8/H ?or
J — Q| arees
HsC™ H HsC~ “H
. ® H
'-CO'D/H QOH H\O O/
Z| H —_ |
HsC
HsC H 3
3 H H
® _H H
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4. Minoxidil is a vasodilator medication. It's also known as Rogaine®.

NH, NH2
S

O 0 Rogaine (Minoxidil)

P - P
H,N" N I\O H,N" N7 ONR,

4. A. Provide resonance contributors where all atoms have filled octets for the
structures below. Pay special attention to the specifications in each box.

(15 pts). 2, ,P.k 0 g ZQ
NH, He NH2

fg\'ﬁ )j N O§N® N - ‘k\&)é@

HzN)l\QN/ NR, uN )(:DQN/ NK, w 7 NR-

N2V
o §('3 /\-.\?

W,N )§NJ\ N2,

Three more contributors, each with a NEUTRAL oxygen atom and
a NEGATIVE carbon atom.

Any 2
.. Lo
o NHe 0, N4 o NH2 g
O%"(Dl\\ &> \N/‘\I o NN jE zo\w\
HaNG N7 NR, Hﬁw NG =N uglez
&
SNTO L
P‘)_NAN Nﬁz

Two more contributors where all atoms inside the shown ring are neutral
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4. B. Match the four terms on the left with the four definitions on the right.
Place the letter of the definition in the box next to the appropriate term.
(6 pts) S pt
Bronsted Acid | (, A Molecule vylth a long pair of 'electrons on eac\
an atom with a partial negative charge

Electrophile |P

1%

Molecule with a partial positive charge

Bronsted Base |D

IO

Molecule that will donate a proton

Molecule with a lone pair of electrons
that can accept a proton

Nucleophile A

IS

4. C. Circle the Nitrogen atom on Minoxidil that is the most basic. (2 pts)

© NHz o NHo o %“’),
o ! b\%)\ e D\S gl
S W™ S ]
X, P
Lyt
Minoxidil Two resonance contributors for question 4.D.

4. D. Draw two resonance contributors in the space above to prove your
choice in 4.C. They must have filled octets. (6 pts) any Z d}, tua 2 shoon

4. E. Draw the products of the reaction between the most basic nitrogen on
Minoxidil and hydronium below. Make sure the formal charges are
correct and that the products are in the appropriate boxes. (6 pts)

Spt per
NH, e Nty Shrre
%o+ HOH NP
H,N" N7 O NR X N=Ne,
2 \ 2
(- A
Minoxidil Hydronium Conjugate Acid Conjugate Base

4. F. Add electron-pushing arrows to the reactants above that lead to the
products drawn. (4 pts) 2 ?& ?e,r A0S
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4. G. Show the product of the reaction between the nucleophilic oxygen
atom on Minoxidil and the electrophilic carbon on the electrophile.

(3 pts)
wj\ y¢ TR ® "
PP HaC ‘C\}/o\/ﬁ\/i
HoN" "N "NR, ©0 L
“IN N NRZ
Minoxidil Electrophile

4. H. Add appropriate electron-pushing arrows to the reactants to show the
formation of the product you drew in 4.G. (4 pts)

4. 1. Circle the more important resonance contributor below. (3 pts)

4. J. Explain your answer to 4.1. in the box below. You may use 1 sentence
and no more than 10 words. (3 pts)

B has Civled octets

4. K. Based on your answer to 4.1., do you think the carbon atoms on
Minoxidil are more likely to act as electrophiles or nucleophiles?
Explain. (2 pts)

nu(,b;o?k‘hs ble partial \/\9.(3 C/\/\qu,
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5. A. Draw the flat-ring representation of the "Chair" molecule depicted in
the box below. Please use the provided template and use wedges and
dashes. Add the appropr\i-.ate formgl charges. (3 pts)

(@]

4
NH2
5. B. Draw the chair-flipped structure in the box on the right. (3 pts)

5. C. Using the data provided below, calculate the AG for the chair flip and
write the answer in the appropriate box. Show your work. (5 pts)

5. D. Based on your AG, draw in the equilibrium arrow for this chair-flip in
the appropriate box. (2 pts)

Ho

"y

CHs AG=-)5 @'L oH
H30\®)i\3\74KOH QS é/’g\&
N~ 6 5 -
L NH - N iz
©0 Chair ? N Chair-flioped struct
equilibrium arrow air-rflipped structure
Show work:
Ml%—»m(’ +\F
ML ax-veq = -\.3 o
. - o/ [} W\bl
P ax-reg= “1.0 25 L
HO > A= +1.0
NPy ax—y ¢4 -5

The energies reported are from flipping the piperidine chair conformer with

axial.

Substituent  AG°® (kcal/mol) Substituent  AG° (kcal/mol)
O@ 20 NH, 1.5
Me 1.70 OH 1.0 |
t J
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5. E. The double-barrel Newman Projection of the "Chair" molecule has been
provided below. The eyes are looking from N—2 and from 5—4. Catalog
all of the SUBSTITUENT-SUBSTITUENT steric interactions. Label them
as either Gauche or 1,3-diaxial. (4 pts)

Chair CH, CHz Chair-flipped
| cyzow  structure
2 > N
H3C\$ 63 i OH CIAN 5
00 NH, 6 N“‘;_
CH; H CHs ot
¢ H
IO | S
O5 NH, W
Newman N—2 and 5—4 Newman N—2 and 5—4
Substituent-Substituent steric interactions ||| Substituent-Substituent steric interactions
Gauche: MM Gaucwa : MeMe , M, 0@
s diaxial: 2, NH» W3diaxial: MLOW

5. F. Redraw the substituents on the Chair-flipped structure above. Fill in the
substituents on the double-barrel Newman Projection looking down the
N—2 and 5—4 bonds. (3 pts)

5. G. Catalog all of the SUBSTITUENT-SUBSTITUENT steric interactions
present in the Chair-flipped structure. Label them as either Gauche or
1,3-diaxial. (4 pts)

5. H. The negatively charged oxygen is less basic than expected. Explain this
using the inductive effect. Use 1 sentence. (3 pts)

oxygen s boond +o Ni‘\-roc,uﬁ?u)\/\ic,\a pulls
Some e demsity toward it

5. |. The negatively charged oxygen is even less basic in the "chair" than in
the "chair-flipped" conformation. Explain. (3 pts)

long Potr o 0P can H-lomd W/ Ny
PN wWMen 13 diaxial  tnverachm
s ?reseud\.
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